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AUTOMOBILE ENGINEERING

Fruffa o= : 392 '  [3Tftrehan 3% : 60
Time allowed : 3 Hours] [Maximum Marks : 60
W () FHA-FRATIFAY T HE
Note : There are THREE sections A, B and C in the paper.
(i) QFIT T F9T &A1 F G 10 Y7 F IR AT | TAF 57T T 3 F1E G
- @} 10 5T TEGHE TER F T HE |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT @ F 8 T 4 8 355 6 oI 3 IR HY | % 9 3 3b HE
57T 5 FET / 50 W&l 7 I I |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(v) 8% & 6 3991 § @ 58T 4 3o & IR T | FAF 97 8 3 HT & 0T
F7HT15 5T / 150 WIsg) 4 I} GI97Y |/

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

()  FOF QT F GH 31 F1 FHAR T T T T |

Solve all the questions of a section consecutively togethef.
(i) @ STTaT H 37 17 B IR 7 A e S A= 8

Only English version is valid in case of difference in both the languages.

JRA - T
. SECTION - A
() otfomeTse i g o i wite 8, wedee yomedt, R, ufed ofk
(2) W (b) %
(c) feeait (d) st
Basic Automobile structure consists of the suspension system, axles, wheels and
(a) Frame (b) Brakes
(c) Steering (d) Lights
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forferfga & & ford 97 o firr sfea & we wenfia fFn s & 72

(@) TUeR MR (b) fetharer firr

() TemmiA (d) =

Which one of the following is mounted between engine and gear box ?
(a) Propeller shaft (b) Differential Gear

(c) Reduction fan (d) Clutch

wWem %R frg ufgd s wfiear @ S ], 98 2

(a) = ufga (b) R e e

(c) Bfirm firsr g ufdEn (d) vegfufem frsr arg ufgn

The type of wheels preferred in sports cars are

(a) disc wheel (b) wire wheel

(¢) magnesium alloy wheel (d) aluminium alloy wheel
1 1 Il TRR B ¢ hi T feres Rrems gt 8

(a) #=H (b) TFmRIw

() st feam @ wHIHRT
An underinflated tyre will wear the tread most

(a) near centre (b) near the edges

(c) in the lateral direction (d) None of the above
SR ! ek I aREfrd gt 8

(a) I (b) FE=ETTa

(c) %o fata (d) wdifsa gan

The brakes employed in cars are usually operated

(a) mechanically (b) hydraulically

(c) by means of engine vacuum (d) by compressed air
TS HaTget  Wiieh TSATSR FNT 5T T 11 B |

(a) STl T JTETOT OIEEEIRESET

(c) i <ht famfa (d) Sl ! gGHT

Shock absorber in an automobile is used to

(a) absorb the energy (b) dissipate the energy
(c) release the energy (d) increase the energy

(vii) Teeafi fores que %1 qaa am 3

(a) ¢HTTS (b) aH-TE
(c) gufers (d) T

Another name of steering link rod is

(a) trackrod (b) tie-rod

(c) draglink (d) = Pitman
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(viii) STTSThet BRI A T AT TAT BN 1T shiwed feeafr iR 2
(a) ¥ qun fuftem wr (b) T aT iR wHR
(c) T YT UK THR (d) AU IHR
Most proper manual steering gear for car today is
(a) Rack and pinion type (b) Worm and wheel type
(¢) Cam and roller type (d) Worm and nut type

™

(ix) SIS § TRYYT 1 HH ST &

(a) TS Y I Bt wewr (b) TE o Ui W TS B qEe

(c) T wifF i wEe (d) TSR gIR G

The purpose of transmission in an automobile is
(a) to vary the speed of automobile

(b) to vary the torque at the road wheels

(c) to vary the power of automobile

(d) to take right and left turn

(x) T H Ua e I 3
() T EeTER (b) I FeR
(c) U 6 GYA HH HA I (d) IR afty

Increase of torque in a vehicle is obtained by
(a) decreasing speed

(b) decreasing power

(c) decreasing petrol consumption

(d) All of the above

Yo — <t
SECTION - B
ATTIETSH TR JOrTe} & SHTH Tl |

State the functions of automobile transmission system.

HATHEEA TR S RTHHEEA S |

What are the functions of automobile tyres ?

et 51 o T TSI o ATH T3 |

State the main components of disc brakes.

el o o1 T R STt 39 T RSt s 3 s Rl |

Draw neat sketch of disc brake and write names of various parts on it.

AR o W Tl R st @) wweE |

Explain the various forces acting on chassis frame.
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7.

10.

11.

12.

13.

14.

15.

I3 qiEiera Tore it 3NET gg-aRETfd ore o T A BT | 7

What are the advantages of hydraulically operated clutch over mechanically operated
clutch ? A3

frod it w - & R T e 7

What are the various loads acting on the rear axles ? ' . 3
Y- T b MY o A FAA |
Name the parts of a centrifugal clutch. : A3)
TR — ©
SECTION -C
el TE FoTe Y TTEAT T HRITUTE! i i Tussy |
Explain the construction and working of single plate clutch with neat sketch. 3

mwa{ﬁwmﬁmﬁmmaﬁaaﬁqaﬁﬁql

Explain construction and working of propeller shaft and universal joint with neat
sketch. : ' ®)

Tefienifie Wi TeaTek shi SRS fast ) TgrraT @ gmensy |

Explain working of a telescopic shock absorber with help of neat sketch. ®)

FrEiraTEe T T BT T quT S W RRI % s wE R ) g
Q e @ wweEd |

Describe in detail constructional features of the tubed and tubeless tyre for
automotive use with help of sketch. )]

FTHIETSe IR B TS M 15 T orqa §9 & awimsd |

Draw the layout plan of an automobile chassis and explain in detail. 8)

et w wfire feoaof fafe -
Write short note on the following :
(2) TS A
Automobile Frame
(b) erR-FHEd d freE
Tyre troubles and repair (4+4)




